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MAP 4170 Name:
Test 3 Date: July 6, 2016

Show sufficient work and clearly mark your answers. Each problem is worth 10 points.
1. Gus buys a 20-year 1000 face value bond, redeemable at par, with 6% semiannual
coupons at a price to yield 8%, compounded semiannually. Gus invests each coupon
received in an account that earns 10%, compounded semiannually. Immediately
before receiving the 15™ coupon, Gus sells the bond to Olivia at a price that yields
Olivia 4%, compounded semiannually. Determine the nominal yield, compounded
semiannually, that Gus received over the time in which he owns the bond.
(A) 5.59%
(B) 5.70%
(C) 8.97%
(D) 11.17%

(F) 11.40%

b2

For a bond with coupons of 140, you are given:
. P16+P18++P34:_4360

ii. Pjg =-3.80

Determine the price of the bond.

(A) 9500

(B) 9550

(C) 9600

(D) 9650

(E) 9700
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5. A 20-year loan of 100,000 is to be repaid with annual payments using the sinking
fund method. The lender charges an interest rate of 6% annual effective. The
balance in the sinking fund immediately after the deposit at the end of the fourth year
is 12,170. The net amount of interest paid on the loan during the fifth year is 5300.
Determine the balance in the sinking fund immediately after the deposit at the end of
the tenth year.

(A) 36,375
(B) 36,575
(C) 36,775
(D) 36,975

(E) 37.175

6. A 40-year 1000 face value callable bond with 4% annual coupons is bought at the
maximum price to yield 3% annual effective. The bond can be called as follows:

at the end of years 16 through 20 with a redemption value of 1200

at the end of years 26 through 30 with a redemption value of 1300

at the end of years 36 through 40 with a redemption value of 1400
Determine the condition in which the buyer of the bond will realize the greatest yield.
(A) the bond is redeemed at the end of year 20
(B) the bond is redeemed at the end of year 26
(C) the bond is redeemed at the end of year 30

(D) the bond is redeemed at the end of year 36

(E) the correct answer is not given above
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9. An n-year 1000 par value bond, redeemable at par, with r% semiannual coupons is
selling for 885. With (r - 2)% semiannual coupons instead of the r% semiannual
coupons, the bond would sell for 705. Determine the price if the bond had
(r + 4)% semiannual coupons. Assume the same yield rate for all calculations.

(A) 1110
(B) 1155
(C) 1200
(D) 1245

(F) 1290

10. A 30-year loan of 200,000 at 6% annual effective has annual payments. The
payments are 10000 for first 10 years, 20000 for next 10 years, and X for the last 10
years. Calculate the total amount of interest paid during the five year period
extending from the beginning of the ninth year through the end of the thirteenth year.
(A) 13,870
(B) 15730
(C) 35,550
(D) 64,270

(E) 66,130



